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Slides

Try to replace text with figures

10



Slides

FindPath
1: T1 := T , p := [T1], [C1, . . . ,Cn−1] := R
2: for k = 1, . . . , n − 2 do
3: while rank((Ck)T1) > k do
4: if (Ck)T1 and node u with rank one less than (Ck)T1 in

T1 are connected by an edge then
5: T2 is T1 with the rank of (Ck)T1 decreased by an NNI

move
6: else
7: T2 is T1 with ranks of u and (Ck)T1 swapped
8: T1 = T2

9: p = p + T1

10: return p
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Percentiles
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Slides

Talk about everything on the slide.
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Or: Only put things you talk about on the slide.
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Talk about everything on the slide.
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Talk about everything on the slide.
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Slides

Use ’toy examples’.
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Use ’toy examples’.
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Presentation

I Relax (not too much, though)
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I Speak slowly
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Presentation
Zoom

I Turn you camera on

I Make sure you don’t get interrupted

I Make sure your microphone works

I Be there on time

I Groups: practise transition
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Thank you

24


	Preparation
	Important questions
	

	Slides
	Presentation
	Zoom

	Thank you

